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Cramer’s Rule: If ‘ = ad — be # 0, then the solutions of the linear system

ar+by = e
cs+dy = f

and cdl

e

L") =

i1/

ab‘

Sn—l—l

['(a+1)
SaJrl

L) =

, where I'(z) = / e "l dt
0

1
s—a
s
s% + a?
a

52 + a?

L(cosh(at)) = i

L(e™) =

L(cos(at)) =

L(sin(at)) =

2 _ g2
, a
L(sinh(at)) =

s2 — g2

S

L(% tsin(at)) CEYRE

5(223 (sin(at) — af cos(at))) _ 1

(82 + CL2)2

—as

L(ug(t)) = es , where u,(t) = 0 for t < a and u,(t) =1 fort > a

) = L)~ 7 7(0) = $7721(0) = 5770) = = sf07(0) -
( / Frydr) =1 £(f(0)
L7 0) = Fls —a)
dTL

L((f * 9)(#)) = F(s) G(s), where (f * g)(t /f ot — 0)d
Llua(t)f(t — a) = e F(s)



